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THE GAUHATI HIGH COURT AT GUWAHATI

(The High Court of Assam, Nagaland, Mizoram and Arunachal Pradesh)

FOR DIRECT RECRUITMENT ©F PRIVATE SECRETARIES FOR THE

QUESTION PAPER

PRINCIFPAL SEAT OF GAUHATEI HIGH COURT AT GUWARATI

Duration: 2 hrs.

Date: 23-02-2019 (Saturday)

ENGLISH SECTION:

Q.No.-1 Fill up the blanks in the following sentences with the appropriate prepositions:-

*

“MIOMmMUORPE

John was ........ the garden.

Marry went ............. the garden.

The game will end .......... an hour.

I have been here........... a week.

Let us start ......... school.

The tiger was shot.......... A rifie.

He has beeniill ........... Sunday {ast.

......... my son, my cousin also sat ............ me.
You must reach here ................. 8 o'clock.

All men are fallible, the Pope not being................

Q.No.-2  Write short notes on following themes :-

Gauhati High Court

ifl. Role of a Private Secretary attached to Hon'ble Judge of Gauhati

High court.
Relationship between India and Pakistan,

Q.No.-3 Write a letter to your friend describing him about your experience of appearing
in selection test for recruitment as private secretary in the Gauhati High Court.

Q.No.-4 Correct the error in the following sentences:-

&

1

mTaemean

Neither Singh nor Mishra were present.
Who shall I speak to.

Who is the eldest man here.

He talks English well.

I was laying on the floor.

I awoke him at midnight.

The tree was loaded with fruit.

He was died yesterday.

The patient is very better today.

My English knowledge is poor.

Marks: 100

10x1=10

3x10=30

ix10=10

10x1=10



Q.No.-5 Write an Essay on any one of the following:-

a. Internet and its possibilities.
b. My favourite book.
c. The Supreme Court of India
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1x20=20

sx=¢

2.Gx8=bo

2. Gx3=G



